REGR (ZaEk (EEHIKR) )

| THETAT 4 | T BA T |
| #EERZ | 19:46 |
EA
EE) 5 = B
BELAFEEHR 3,460 A 3,845 A 7,305 A
REER 2,108 A 2,197 A 4,305 A
MR LEREEH 1,100 A 1,057 A 2,157 A
HBEAREEH 1,001 A 1,130 A 2,131 A
FHEEREER 7PN 10 A 17 A
ZIEER 1,352 A 1,648 A 3,000 A
RER 60.92 % 57.14 % 58.93 %
£
EE) 5 = B
BELEHEEHR 7PN 8 A 15 A
REER 0 A T A 1T A
AR LEREEH 0 A 0 A 0 A
HBERREEH 0 A 0 A 0 A
THEEREEHN 0 A 0 A 0 A
ENNEREEHN 0 A T A T A
EEEREEHN 0 A 0 A 0 A
ZIEER 7PN 7PN 14 A
RER 0.00 % 12.50 % 6.67 %
B+ &5
E) E & 5
BELOHEEHR 3,467 A 3,853 A 7,320 A
REERK 2,108 A 2,198 A 4,306 A
ZIEEHN 1,359 A 1,655 A 3,014 A
RER 60.80 % 57.05 % 58.83 %




